8. Express 8cos' x in the form acos4x+bcos2x+c. State the values of the constants @, b and c.
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¥ = acos4x

v =bcos2x

y=c¢
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There are +wo cycles of \] cos 4x. fOr Cver)/ C/cle o‘f’ i lfcasax
Raks Coincide ot 0, T, * QN ... —> cupves "reinforce each other

Va'k)fs of Y =4 cosdx coincide with PCGKS of y= cosffx ot "%:) * __fr

cos 4x
= cos (2(ax)
= Reos™(Ix) - |
=Q((Acotx-1) - |
= Qx( “"CQS‘*’X - "f'cosax +l)—' \
= "3':'05*?( — 3o x + \

+ f_l B
Cos dx —> Curves " . jl"
- 2., _ urv Can(e
dcotx - ) oach othor
Teos 4x + Ycos dx

= Beosly —Beodx + | +Bos"n — Y
= 8(‘.054%- 3
a= ') b =4} c= 3



